Ord.No. 1005/47 Rotorkopf fur Bell 47 G 1l
VARIO

HELICOPTER

02/08

90207
M6x20 (S)

M6x20 (S)

S
7

90085
M3x16 (S)

Ord.No.10/24

4x6x1,5




Ord.No. 90/5

Ord.No.11/68
@ 6mm

107/36

90037
M2,5x14

90415 702/92

M3x8 (S)

702/79

02/96

@, <@

'0rd.N0.10/24

7)

Ord.No.10/27




90475

90840
M ©) 3x6x0.3 35/13 Ord.No. 68/50
! . 4x9x4

M3x8 (S)

v
10731 ) \d ) 107131
3mm V‘ D V 3mm
a
Ord.No. 70/66-2 M3x65
&060/9 (S)
M3,5x8mm
107131 \ ,‘ 107/31
\ A 3mm
©
060/9 (S)
M3,5x8mm
060/23 (S)
M3,5x5mm

@(\\g\,\
Ord.No.10/24




Bitte unbedingt beachten!
Mehr Information, kdnnen Sie im Video mit der gelben Bell 47 G 1l auf unserer Webseite sehen.

Please pay attention to the advice of setting the direction of the swashplate for this rotor head.
For more information, please watch the video with the yellow Bell 47 G Ill on our web site.

(D) pichcas ﬁ
bag <l o= | ]




	1005_47-1
	1005_47-2
	1005_47-3
	1005_47-4



